

Name:

Klasse:

Datum:

Aufgabe 1. $(5 - 9)^2 - 5^2 + 2 * (9 + 5) - (9 + 4) =$

Aufgabe 8. $(4 + 4) - (5 * 8) + 5^2 + (2 * 4) - (7 * 6) =$

Aufgabe 2. $(6 * 8) - 6 * 9 + (-8 + 8) - (9 - 8) =$

Aufgabe 9. $(7 + 7) + (8 + 4) * 8^2 - (7 + 2) + (6 + 2) =$

Aufgabe 3. $(5 * 5) * 5 + 5 - (-5 * 2) * (5 - 2) =$

Aufgabe 10. $(2 * 6) * (9 + 3) + 9^2 - (5 - 6) * (5 * 4) =$

Aufgabe 4. $(9 - 5)^3 + 9 - 6 + (5 + 2) * (7 + 4) =$

Aufgabe 11. $(2 - 5) * (6 - 4) + 6^3 + (-9 + 3) + (4 : 2) =$

Aufgabe 5. $(6 * 3) - 6^2 - 9 * (3 * 2) * (4 - 9) =$

Aufgabe 12. $(6 + 8) + (2 + 5) * 2 + (-8 * 9) : (3 + 5) =$

Aufgabe 6. $(2 - 7)^2 - 2 - 8 - (-7 + 5) * (9 + 6) =$

Aufgabe 13. $(7 - 9) * (2 * 5) + 2^2 * (2 - 9) - (2 - 6) =$

Aufgabe 7. $(6 * 6) + 6 + 6 - (-6 + 2) - (5 + 4) =$

Aufgabe 14. $(4 + 2) * (8 * 2) + 8^3 - (-3 + 9) + (8 + 7) =$

Aufgabe 15. $(2 - 6)^3 + 2^2 - (2 + 2^2) * (6 * 8) =$

Aufgabe 22. $(5 * 6) + 5^3 + (7 * 3) - (2 - 5) =$

Aufgabe 16. $(2 - 9)^3 - 7^2 + (7 * 7) - (2 + 5) =$

Aufgabe 23. $(8^2 * 6) + 8 - (3 + 3) * (5 * 3) =$

Aufgabe 17. $(6 + 4) + 5^2 - (5 + 5) + (7 * 7) =$

Aufgabe 24. $(6^2 + 8) - 6^2 * (-5 + 9) - (5 * 7) =$

Aufgabe 18. $(5 - 9) * 2 + (-2 * 2) - (8 + 3) =$

Aufgabe 25. $(8^2 + 3) + 8 - (4 + 9) * (8 - 7) =$

Aufgabe 19. $(5 + 5) * 5^2 + (5 + 5^3) - (5 - 8) =$

Aufgabe 26. $(3^2 - 4) - 3 + (7 + 7) + (8 * 3) =$

Aufgabe 20. $(2 + 4)^3 + 9 * (9 + 9) + (9 * 7) =$

Aufgabe 27. $(2 - 2) + 2^3 - (4 * 4) - (9 + 6) =$

Aufgabe 21. $(6 + 3)^2 * 2^2 + (2 + 2^3) - (7 * 9) =$

Aufgabe 28. $(9 - 8) + 9^2 * (4 - 4) + (9 * 5) =$

Lösungen:

Aufgabe 1: 6
Aufgabe 2: -7
Aufgabe 3: 160
Aufgabe 4: 144
Aufgabe 5: 252
Aufgabe 6: 45
Aufgabe 7: 43
Aufgabe 8: -41
Aufgabe 9: 781
Aufgabe 10: 245
Aufgabe 11: 206
Aufgabe 12: 19
Aufgabe 13: -44
Aufgabe 14: 617
Aufgabe 15: -348
Aufgabe 16: -350
Aufgabe 17: 74
Aufgabe 18: -23
Aufgabe 19: 383
Aufgabe 20: 441
Aufgabe 21: 271
Aufgabe 22: 179
Aufgabe 23: 302
Aufgabe 24: -135
Aufgabe 25: 62
Aufgabe 26: 40
Aufgabe 27: -23
Aufgabe 28: 46